Aire et Volume des Cylindres (H)

Calculez l'aire et le volume pour chaque cylindre.
Aire = (mr? X 2) + (rd x h) ~ Volume = > x h ~ d = 2r

h
\\/ d= 13,6 km h =92 km
Aire =
r= 11,25 hm h =15 hm Volume —
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Volume =

r = 5,8 dam h = 10,8 dam
Aire =

d="7,4 mm h = 5,2 mm
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Vol =
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MathsLibres.com




Aire et Volume des Cylindres (H) Réponses

Calculez l'aire et le volume pour chaque cylindre.
Aire = (mr? X 2) + (rd x h) ~ Volume = > x h ~ d = 2r

\\/ d=136km  h=92km

Aire = 683,61 km?

r = 11,25 hm h =15 hm Volume = 1336,46 km?

Aire = 1855,5 hm?
Volume = 5964,12 hm?

r = 5,8 dam h = 10,8 dam
Aire = 604,95 dam?
Volume = 1141,38 dam?

d="7,4 mm h = 5,2 mm
Aire = 206,91 mm?
Volume = 223,64 mm?3
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